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Query : Sir, a similar question is solved by ICAI using LPP approach in new module page 6.29.

But we didn't use LPP approach. What we should do in the exam?

Reply :

In ICAI module there are two questions : (i) Find optimum product mix and (ii) the company
decided to produce only one of the two products .....

But in our classroom notes, there is only one question asked. Please see the difference very
carefully.

As at this stage in our classroom discussion, we have not discussed LPP model, I have solved
only second part of the question, because it doesn't require LPP model. You can compare only
part (ii) answer of ICAI with our answer.

We have discussed LPP model on page 207 of our classroom notes (Ver. 3) and we have solved

such type of questions there with multiple key factors.
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